Econ 200A

Professor Leffler First Exam

Spring 2004


TA grading guide.  Strive for an average of 17-18 on each question.  Read at least ten answers before settling on your scoring system.  For each question you grade, prepare a summary of how you graded, examples of good approaches and errors students made.  This must be given to me (in electronic format) by Wednesday evening.  I will then post it on the website for the students to read.  Below I provide some comments to guide your grading.
Students - if you have a concern about my answers, let me know why, and I will consider.  You must do this today, Monday, so that any changes back it to the graders.
1.  A.  The following is John’s indifference schedule for money and food.


Food  
5
4
3
2
1
             Money
50
44
38
30
20


Does John’s indifference schedule illustrate the “postulates” of consumer behavior?  Be specific for each postulate.
The indifference schedule does not illustrate scarcity since John’s indifference does not indicate that he prefers more.

The indifference schedule does not  illustrate substitution since John does not require more food to give up money.

The indifference schedule does not illustrate diminishing marginal value as the MV of food (below) does not fall as the amount of food increases.  

MV     - 14
- 6
 - 8
 -10

Bonus - If given a set of choices does John take the most preferred?  There is simply no way to specify what is a preferred choice.  The only way to make any sense of this indifference schedule is that Food and Money are not goods (and are not bads).  John simply does not care what combination he gets.  Therefore there is no “most preferred” choice. 
    B.  True – false.  Specialized hops are grown in the Yakima valley.  Thunderstorms late in summer can ruin a good percent of the crop.  The best thing for Farmer Jones is for his neighbors to be hit with the storms but his land spared.  However, it better to have the storms even if it destroys part of Farmer Jones’ crop rather than not to have the storms.
Uncertain.  The first part is clearly True.  If the neighboring farms are hit with storms the supply of hops will be lowered and the price therefore will increase.  Since Jones’s land is spared, he has the same quantity to sell at a higher  price.  The second part depends on the elasticity of demand.  The demand is inelastic (elastic) then the statement is true (false) since the percentage reduction in quantity will be less (more) than the percentage increase in price and Jones will have higher (lower) revenue.
2.  A. Suppose that in 2002, the prices of steak and potatoes were $3 and 50 cents per pound.  In 2003, the prices became $4 and 60 cents respectively.  Other things equal (including a person’s inflation-adjusted, or real income), how would you expect this person’s consumption of steak and potatoes to have changed?  (Text ch3, # 14)
Yes, the price of potatoes compared to steak (the relative price) has changed from getting 6 potatoes by giving up a steak in 2002 to getting  6 2/3 potatoes by giving up a steak.  Potatoes are relatively less expensive in 2003, and I expect some substitution out of steak into potatoes; that is, reduced consumption of steak, increased consumption of steak. 
     B. In the above question (2.a.) explain what “a person’s inflation adjusted income being equal” means?
This means that the person has sufficient income in 2003 to buy the same quantities purchased in 2002.  For example, assume the person consumed 10 steak and 20 potatoes in 2002.  That would imply income of $40.  The inflation adjusted income being equals implies 2003 income of $52 which would buy 10 steak and 20 potatoes at 2003 prices.
     C. In the above question (2.a.), is the “person” better or worse off in 2003 compared to 2002?
Better off.  The most preferred choice of 2002 is available to the person.  But the person chooses more potatoes and less steak which must be better (or they would not have chosen it.)
3.  A forecast was just issued last week predicting great weather this summer.  As a result a bountiful apple crop is expected next fall.  
     A.  Would you expect any change in the price of apples now?
Yes lower price now.  With the increase supply of apples because of the good weather, the expected price of apples next fall will be lower than before (the great weather prediction were known).  Anybody with an inventory of apples will therefore prefer to sell now rather than wait.  This will increase the current supply and lower the current price.  In addition, some consumers may decide to delay purchase in anticipation of a lower price in the fall (for example, a producer of apple juice or apple sauce who is a consumer  in the apple market).  A decrease in demand will also lower the current price.  
     B.  Would you expect any change in the price of pears in the fall?
Pears are likely a substitute for apples (have a pear with lunch instead of an apple).  A lower price of apples will therefore cause some pear consumer to switch to apples decreasing the demand for pears.  The decreased demand for pears will lower the price of pears. 
     C.  If the great weather in fact occurred, what would you predict about the elasticity of demand for apples (measured at the same price that exists today) next fall as compared to now?
(Grader - pay attention to the price at which the student is answering.  If a student correctly answers in terms of the equilibrium price - contrary to the parenthetical in the question - give full credit.)

The elasticity in this context will change only because the demand shifts or the price at which the elasticity is measured changes.  Here we have a shift inward in the apple demand because of the lower price of pears.  This causes the elasticity to increase at  each price (the percentage change in quantity will be greater because of a lower denominator).  [If we consider the lower price of apples (contrary to “measured at today’s price], the elasticity will be lower.  Overall the percentage change in quantity will decrease since the quantity increases (the denominator in the percentage change in quantity will increase even taking account of the effect of the lower pear price), while percentage change in price will be increase at the new lower price.]
     D.  If by July, the great summer did not materialize, what would you predict about the price of apples in the fall compared to what it would have been had the great summer not been forecasted? 
The predicted lower price in the fall will have resulted in a reduction in inventories and a delay in purchases.  These factors will result in lower supply in the fall than otherwise and larger demand.  With no increased production in the fall, the lower supply and increased demand will both cause the price to be higher than if the bountiful production had not been (incorrectly) predicted.    

4.  A.  Jody bought ten cans of cat food for $2 each.  The store raised the price by $1 each but offered a $20 coupon for purchases of ten or more cans.  Assuming that Mary’s situation is unchanged, do you predict that Mary will buy more, less or the same number of cans of cat food under the new pricing?
Revised -coupon is worth $20 if 10 or more are purchased.  SAME (or more)  All available options of less than 10 cans are worse than her previous option (since the price will be $3 rather than $2.)  The best option before, buy 10 spend $20, is now improved by buy 10 spend $10 ($30 in cost less the $20 coupon.)  Hence she will certainly buy at least as much as before.  Before when Jody considered buying the 11th can, her MV was less than $2 (since she did not buy it.)  Now after buying 10 cans, Jody has $10 more for other stuff.  This will increase her marginal value such that she may buy some additional cans beyond 10.  

[Original  (the question was supposed to say a coupon allowing her to buy 10 cans for $20) -- SAME.  We know that among the possibilities originally available ($2 per can), Jody’s most preferred choice was to buy 10 spending $20.  We also know that the choice of 10 for $20 is still available to her using the coupon.  Any purchase of less than 10 at $3 per can must be less preferred than 10 cans for $20.  For example, at $3 per can, perhaps she would buy 6 cans for $18.  But before she could have 6 cans for $12 and we know 10 cans for $20 is better than 6 cans for $12 which is better than 6 cans for $18. In addition, we know that the 11th can has a value to her of less than $2 (or she would have purchased it originally.)  Therefore, at a cost of $3, she certainly won’t buy the 11th.]  
     B.  (T/F) The time spent purchasing a good should not be considered part of the cost of purchase since the time would have passed anyway.
False.  The cost of the time is the highest valued activity other the spending the time purchasing (sleeping, studying, watching TV, … .)
     C.  (T/F)  Mary just shopped and bought 10 cans of Pepsi for 50 cents each and 10 cookies for 25 cents each.  She would have preferred a store where the prices were 25 cents for Pepsi and 50 cents for cookies.
True.  Much like 2.c. and 4.a.  Originally Mary spent $7.50 for 10 Pepsi and 10 cookies.  At the new prices, she could still buy 10P and 10C for $7.50.  However, the change in the relative prices (before a cookie was 1/2 a Pepsi, now a cookie costs 2 Pepsis), will change her to change her purchases towards Pepsi away from cookies.  Since, the most preferred option at the old prices is still available, the new most preferred option must be even better. 
5. (T/F)  A.  Water is a necessity.  Its use is therefore not expected to respond to a price increase.
False.  While it is true that we need water for survival, 99 percent of the water we buy is for flushing toilets, taking showers, watering the plants, washing the car, etc.  rather than for drinking (and I know no one who drinks just enough to survive.)  Like any other good, an increase in the costs of flushing toilets, taking showers, watering the plants, washing the car, etc. will cause people to substitute into other goods reducing their consumption of water.
    B.  An increase in the state tax on gasoline will increase the state’s revenue from the gasoline tax.
Ambiguous.  An increase in the tax will increase the cost of buying and consuming gasoline.  The increased cost of buying gasoline will cause a reduction in the quantity demanded and consumed of gasoline.  Higher tax but lower gas purchases -- ?? effect on the tax revenue.

    C.  If Seattle experiences a water shortage this summer, an efficient way to alleviate the effects of the shortage would be to ban such frivolous uses as lawn watering and car washing.
False.  An efficient action means to make some better off without harming anyone else.  Some consumers get great pleasure out of the perfect lawn or their very clean car.  These people may willing forego other water uses (hosing off the patio or washing the dishes with the water running) rather than have their lawns die or suffer the indignity of a dirty car.  By letting the price increase to the equilibrium level, they can choose their  best use of the limited supply (scarcity) of water.   
6.  Apartment rents in Berkeley, California have been held below the equilibrium level for many years by rent control. Rents in adjoining Oakland have not been controlled.  Consider two identical apartment complexes that are right next door to each other, one in Oakland and one in Berkeley.  Explain how you expect each of the following to compare in these complexes:

A.  The lengths of the apartment leases.
Longer in Berkeley.  One significant cost of rentals is the clean up cost between tenants and the vacancy time between tentants.  These costs are factored into the equilibrium rental price.  In Berkeley, where the price is controlled below the equilibrium level, tenants can compete for apartments (for which there is a shortage) by offering to stay longer thereby lowering these costs.  
B.  The average time a typical renter spends in the apartments.
Longer in Berkeley.  A. above implies this.  In addition, by occupying a Berkeley apartment, the tenant receives value greater than price.  Tenants will give this up by leaving their Berkeley apartment.  It is therefore more costly to vacate a Berkeley apartment and there will be fewer apartments vacated as a result. 
C.  The percentage of student renters.
More in Oakland.  Student are more costly renters.  They tend to party more than average, disturbing other tenants and making a mess.  Also, since most students are relatively poor, they also have more collections issues.  However, students can make up for these undesirable traits by paying higher rents.  This option is not available in Berkeley.  In Berkeley, an apartment owner is operating in a market with a shortage of apartments (price below the equilibrium level).  The owner can therefore select the more desired tenants (no students, no pets, no kids) at little cost. 
D.  The condition of the apartments.
Poorer in Berkeley.  With the shortage of Berkeley apartments, there is little incentive to repaint, clean carpets, etc.  While a dirty apartment in poor condition will have a lower demand as a result, the lower demand does not reduce the price.
E.  The cost of extra keys.
Higher in Berkeley.  By raising the price of extra keys above the cost, the owner (and the tenants) can mitigate the impact of the price of the apartment being below the equilibrium level.  Also, tenants are compete for the apartments by offering higher prices for related goods (extra keys, covered parking, extra storage space). 
